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Test# 1 COMPUTER Unit # 1 (Complete)
Time: 1 Hour Class-9*" Dated: / /
Student Name Roll No - - Marks: 30
1. Circle the correct answer. (6x1=6) TS Lz s -1
1 To divide a complex problem into smaller problems :c_mm/(:ﬁ Jus g > ase L1
means: ’
divide and conquer _; J'Z J/fiﬁ (B) hide and seek (. f (A)
check and improve ¢ =/ él, (D) check and balance % él, (&)
2 Ctrl + F is the keyboard short-cut to a word, /u} L (v ek u’(Ctrl +F &S e by uf 2
name or text: b eL oS
think 2 ,- (D) write ¢ (C) find jy- (B) see z, (A)
3 The keyboard short-cut to search a word, name or eSS L LS S S Lf( 3
text is:
Ctrl+ K (D) Ctrl+F (C) Ctrl+T (B) Ctrl+S (A)
4 Every algorithm must begin with notation: el bl &(5’; Fioys ‘f:‘; [//f; s 4
else (D) start (C) goto (B) input (A)
5 The notation used to transfer control to a certain step 2 ¢ sy = & L1 L //,ﬁ S s 7 50 s
of an algorithm is: .9wgJWu 4 yd L/Jar"
jumpto (D) goto (C) moveto (B) start with (A)
6 To find the root cause of failure of an algorithm is et P PP Jj L f/f, A6
called: ‘ ’ ’ .
identification 54/ (D) testing _Z# (C) validation %11, (B) verification ‘f"é S A
2- Answer the following questions: (8x2=16) iz L ety J300-2
@) Define problem analysis. Explain your SISl Jo iy fe e ‘e f L& D
answer along with an example.
(ii) Name some of the strategies which are used to plan L Lu PSS S eru LU = f i (i)
a solution. o Jlg JJL»”H
(i) What is meant by candid solution? ey Ve b3 Gid
(iv)  Draw a flowchart to find the volume of cube. okl L g_/r,bf f K Gv)
(V) How flowcharts are helpful in problem s et bt S LEU,S uj/tg £ W
solving?
(vi)  Write an algorithm to find acceleration of a moving =L S U/r,l:f uz/u{, g(). iwi S oS tf( i)
object with given mass and the applied force. . éfu,} (Force) w4 dis & Je1 s (Mass)
(vi)  Write an algorithm to find the interest on an amount.  _ 2’ iF r‘"”,,ﬂ/ L L g_/r,hf(,,,) o '} tf( vid)

(viii)

Write an algorithm to find even numbers in integers ) J/r,hf sl = Y £ n2 /./ S~ nl / (viii)

ranging from nl to n2 (where n2 is greater than n1). ( P / nl / n2

Note : Attempt the question in detail. (8x1=8) ‘Juv J’"’KJV Sitn s

1

Draw the flowcharts for input two numbers ~ _ s J n2 sl 0 e Jile U U7 S oy e

nl and n2. Determine whether n1 divides V- L/f” H I n2# nl fu'l,
n2 or not.

1




MCQs Ans Key

Q:1 (B) Q:2 (B)

Q:3 (C)

Q:4 (C)

Q:5 (C)

Q:6 (D)



Test# 2 COMPUTER Unit # 2 (Complete)
Time: 1Hour Class-g*" Dated: / /
Student Name Roll No - - Marks: 30
1. Circle the correct answer. (6x1=6) TS Lz s -1
1 Hexadecimal system has total ___numbers. s / e J/;’i; ij 1
15 (D) 18 (C) 16 (B) 17 (A)
2 The hexadecimal number 1F is equal to decimal e 41 L— si6 $A251 AF sue Jf:’i; |j?: 2
number:
31 (D) 25 (C) 21 (B) 11 (A)
3 Storage devices can store or hold information: e G’C S el Jﬂ,:; G 3
quickly , . 5,4 (C) permanently , b J@"" (B) temporarily ,, b °,i (A)
' ' both A& B _j,, AB (D)
4 One Petabyte (PB) is equal to: e sy (PB)eA by L1 4
bytes 1024°> (D) bytes 1024* (C) bytes 10243 (B) ‘bytes 10242 (A)
5 Which one of following sentences is a proposition: e u‘%;g S ufc SuM S S
Sit down 3, 5+ (C) ?How are U ¢z 4/._:;’ (B)L close‘the. door , S & yitssy (A)
' I play chess . cg[f//w o (D)
6 NOT operator of Boolean Algebra is denoted by: et iy S £ NOT i /é; uﬂ 4 6
D) - (©) + B) * (A
2- Answer the following questions: @8x2=16) .2l eyz L ity 500 -2
(i) Write the truth table for X AND Y X =Itis sunny, Y = Today is 'uﬂ;’ J’: pay "A ZXANDY &G
where: Monday G
(i) Convert (11000001); to hexadecimal number system. _éf Jo Jﬂ:ﬁ e SA 1000001), G
(iii) How many types are there of logical operators? -“é eolos S £ rL,Ju J{/‘/"z{:;l J%u (iii)
Explain.
(iv) DeFf)ine OR Operator with its symbol. LS ol = i g 4 OR  (Gv)
() With the help of truth table prove that: SE et wdF 5 W
(AB).C=A.(B.0O
(Vi) Differentiate between temporary and LSBT Sl (D
permanent storage.

(vi)  State the use of laws of Boolean Algebra. Sk St UK VA A (viD
(vii)  State the use of truth table. - ok IS A (vidd)
Note : Attempt the question in detail. (8x1=8) 2 iz &fﬂwv S5t

1 Perform the following conversions (ABCD);¢ to binary S de s 8A S(ABCD)g 1




MCQs Ans Key

Q:1 (B) Q:2 (D)

Q:3 (D)

Q:4 (D)

Q:5 (D)

Q:6 (C)



Test# 3 COMPUTER Unit # 3 (Complete)

Time: 1 Hour Class—gth Dated: / /

Student Name Roll No - - Marks: 30
1. Circle the correct answer. (6x1=6) TS L iz s -1

Communications protocols cover

Correction /"5, (C)

The receiver must be capable of accepting the

ab}rL{l/ (( <<<<<<<<< J/}’}/ /:j 1
Error detection |, / (,lv UJ’)‘ (B) Authentication |,/ Jud S sz (A)
Al iz (D)

gk lx JEL S IR e i yor (e 2

Information ..(,b+ (D) Address 2,4 (C) Message ‘s (B) Protocol J[,;,/ (A)
A server is a physical computer assigned to serve the J L/dnj enf s Gl SR /,ﬁfuﬁ nr 3

needs of its:

e L"/'/(fl)

customers {4 (D) clients &' ¢ (C) people § /¥ (B) workers { ;. (A)

The physical path that connects a sender and a
receiver is called:

et S LS S U L & g 4

IanewiJ (D) medium o (C) broadband %» 3, (B) roads,, (A)

Which one of the following is a layer of TCP/IP:

Internet Layer 2/ .z (C) Data Layer 2) 3

ISP is an abbreviation of

e HLETCP/IP & s 20 5
(B) Transport Layer = . /12 (A)
Transfer Layer zJ i (D)

e~ ISP 6

Internal Service Provider , iz, s~ f 1 (B) Interior Service Provider ,iz1, sy~ 21 (A)

Internet Service Provider , 471y, , 15 Y (©)

Information Service Provider , iz, . sy J“.f'/v, (D)

2- Answer the following questions:

(i)
(i)
(iii)

(iv)
(v)
(vi)
(vii)
(viii)

Define computer network.
State the purpose of computer network.

How storage capacity can be increased over a
computer network?
Who is a sender?

What is the function of application layer?
Write a short note on data link layer.

For what purpose HTTP is used?

What is routing table?

Note : Attempt the question in detail.

1

What are the sizes of IPv4 and IPv6?
Explain the method to calculate the size of
these both standards.

(8x2=16) ez L ey J300-2
Ee ST sl @
o OT B e U § S o 2od (D)

P NN = JE PN ST N (11))

fe o Lkl s 5 e Gv)
e FEUK A W)
_Z:ubu'j’K/‘ﬁ/ (vi)
fetty U1 L L ud JHTTP (viD)
_EE ol Je € U B (viid)
(8x1=8) 2 iz J'f” € S5t e
K el 7§ ok Ui ot A ZIPV6SIPVA 1
-u:/’/bb} K .’é{/l’




MCQs Ans Key

Q:1 (D) Q:2 (B)

Q:3 (C)

Q:4 (C)

Q:5 (A)

Q:6 (C)



Test# 4 COMPUTER Unit # 4 (Complete)

Time: 1Hour Class-g*" Dated: / /

Student Name Roll No - - Marks: 30
1. Circle the correct answer. (6x1=6) -uft{y/’m/ PANT JCN |

A serious attack on a computer system is known as:
hijacking _g¢: (|, (C) system hacking _gg; #~ (B) systemblocking ..g, § & (A)

Encryption helps us to save data from:
hackers - & (D)

sabotage 44 _. ¥ (D)
= J/M Sia U= s 4 :’/L‘,},f U%'/Ul

users o,y (C) programmers o .7, , (B) websurfers o i _. (A)
The most common letter used in English language is:

e S L ol e e dz)f/u
u (D) o (C) e (B) a (A

The word which is generated, read, remembered and y # i< gu, s Ass osl Bo Wl et b2 o Lt 2 5 L

reproduced for human use is known as:

e L"M(‘gvtg

key letter ./ J (D) alphabet 2 (C) password i, s, (B) keyword;, { (A)

A good password should contain:

ABC all 7 ABC (D) aIphabetjf sz (C) symbols .k
é éLL’c/g‘L}(bﬁ: q/gu'?_{lcgflm,«?:

A cyber-attack to make a machine or network
resource unavailable is known as:

gl Ux V) UL L
(B) numbers // (A)

et AL

virus attack _g s, (C) DoS attack _g s; (B) cybercrime (’;//{L, (A)

2- Answer the following questions:

(i)
(i)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

Name some of the data security issues.

What is meant by cracking the key?

What is meant by Sabotage?

Who is Vigenere cipher?

What are the famous quotes of Julius Caesar?
State the weaknesses of substitution ciphers.
What are the benefits of Captcha?

Write any two Characteristics of Phishing Emails.

Note : Attempt the question in detail.

web attack _gy _., (D)

(8x2=16)
S L daE e

Sl b Lfc_ L/.f/d/

(" Ve d/{uf

fe U//‘L//

_E e I L o

ok B L Ukt § AL

3<L‘_L"M.L7K(:’¢;/?(L/;{‘g{ 1

2 iz L ety f5 00 -2

€))
(i)
(i)
Gv)
W)
(vi)

cur o8 L y:f (vii)
-é{/ﬁ @kor" FEp=a L}:{d/gﬁ‘ S u/@ (viii)

(8x1=8)

2 T uk" i S50 29




MCQs Ans Key

Q:1 (D) Q:2 (D)

Q:3 (B)

Q:4 (B)

Q:5 (D)

Q:6 (B)



Test# 5 COMPUTER Unit # 5 (Complete)

Time: 1Hour Class-g*" Dated: / /
Student Name Roll No - - Marks: 30
1. Circle the correct answer. (6x1=6) TS Lz s -1
1 HTML is not a language. P4 Z:,@ _________ L3 HTML 1

Both A and B jjsii usss (C) Markup _ 4 (B) Programming _E,/,, (A)
None of these %" & §4 (D)

2 In “body” tag is used to make a picture as y: /»,ﬁ y: i) e J@ L F LU 2
a background image of a webpage: et L/JL*”' é Z ik
Both Aand B s, Gii) s (i) (D) bgiamge (C) background (B) bg (A)
3 HTML is used to create: e Jlg e £ LHTML 3
web pages & _., (D) data text S s (C) graphicfile fi g/ (E’:) text file f5 o (A)
4 Which one of the fo]lowing symbols is used as JJW’ 4? L B Lsl = (5 o« Jits 4
opening tag: ot

{} @) <> (C) </> (B) () (A)
5 Which one of the following tags is used to insert a J;f;[,g&L/b{4kjg%él,uféu:;?‘j“;,?/ﬂ 5

line break or start a new paragraph: et L/(JL*" é z 2_/&;
<Ir> (D) <br> (C) <rb> (B) <tr> (A)
6 To create sub-headings within a webpage, we use: 13 L/JL&! (7 4“1_ it fjﬂ — g - 6
ABC all rg (D) h4>tag> (C) h3>tag> (B) h2>tag> (A)
2- Answer the following questions: (8x2=16) 2 epiz 2L ety f5 00 -2
(i) Describe the basic text formatting tags. Je LBl Bk ()
(i) What is meant by Markup Language? te Ve L& IS GD
(i) Differentiate between ordered and Ut U (unordered) <27 & sl (ordered) 4 =27 (i)
unordered list. S O
(iv)  State the structure of Paired Tags. S Y 23l SLim Gv)
(V) Write the steps to create your first E ALl gl (V)
webpage.
(Vi) Write HTML coding to make bold, italics and &/ HTML & £ &/ o &t s o s £ 7 (v
underlined text. -Z L F
(vii()  Name the types of tags in an HTML <”&( v L tags i &t JeF1 gt e BHTML  (vid)
document.
(vii)  What is difference between hyperlink and anchor? fe O/ Sl B AL (viid)
Note : Attempt the question in detail. (8x1=8) iz U dstn i
1 Write HTML to get the following output: G -J.‘.J HTML & £ b g odT S5 ouer 1

i) Algorithms ii) Plain Interest Calculation SR G ol i / A




MCQs Ans Key

Q:1 (A) Q:2 (B)

Q:3 (D)

Q:4 (C)

Q:5 (C)

Q:6 (D)



Test# 6 COMPUTER Unit # 1,2(Half Book)
Time: 1:45 Hour Class—9t" Dated: / /
Student Name Roll No - - Marks: 50
1. Circle the correct answer. LYoo S Lz e -1
(10x1=10)
1 A graphical presentation of the steps to solve a e F$d u(d"/ i SF & u/ 1
problem is:
puzzle » (D) flowchart oy b (C) flow lines /U Wb (B) algorithm f;{/’ﬁ' (A)
2 Taking data from the user is called: et W e Dl 2
flow of data 5, ¢'s (D) output .; .47 (C) processing gy, (B) Linput o A
3 “Is it cold outside”is ____ . % <<<<<<< uj “o G A3
Categorical proposition ./ ; Iy /S (B) Boolean proposition B3 Py JQ s (A)
None of above o7 & §4 (D) Moral propositions u‘%;é u’/; Jo» (€)
4 Hexadecimal system has total ____numbers. v A ~.~~~.«d3 Sl 4
15 (D) 18 (C) 16 (B) 17 (A)
5 The base of Hexadecimal number system is: e &n s Jr‘z// J“f)")" ,y?‘ 5
2 (D) 8 (C) 16 (B) 10 (A)
6 Binary value for hexadecimal number 5 is: e el JL? 4_ z 5/,1 J:’»; ,yg 6
0101 (D) 0010 (C) 1110 (B) 0011 (A)
7 Volatile memory holds data: e P S8 S T
occasionally ¢ ,;¢ (C) permanently 4 # JJ" (B) ter;"lporarily 4 ? FAh (A
regularly o (s, (D)
8 The best example of internal storage device is: e Jé A J‘/’;,:; o J‘/v, 8
RAM (D) Hard Disk (C) USB (B) CD (A)
9 In Boolean algebra, NOT(P) is written as: ‘b L SINOT(P o ,/.-{'; ﬁ,g 9
PA (D) P. (C) P— (B) P+ (A)
10 When some logical operator is applied to the Boolean Cf -t y/fg £ ﬁ;z Ry dﬂ,g //"%” Jé%u kf(-) 10

proposition, we get: >

Boolean Notation % J .2y (C) Boolean Expression . £ .4y (B) Boolean Law /i ¢ o2y (A)

Logical Expression ./ /;f; Ky (D)




Test# 6 COMPUTER Unit # 1,2(Half Book)

Time: 1:45 Hour Class-9*" Dated: / /
Student Name Roll No - - Marks: 50
- J:l )
(Part-I
2- Write short answers to any (4x2=8) ey etz & L ey 4 e 352

4 questions:
(1) What is important before jumping into the solution of  J& _(j ¢ Az ggﬁ e bt JJ" L s u/ )

the problem? Give an example. =
(ii) What is meant by problem analysis? Se sl Ve o & GD
(iii) What is terminal? e S Gid)
(iv)  Draw a flowchart to find the sum, product and &L ‘L/r,Lv ol ol s K il L s é& Gv)
average of five given numbers. 2l o /l;

(v) What is meant by internal storage devices? Sl U e ;;,”15 &+ J}.; )
(vi) Define distributive law w. r. t. to Boolean Algebra. ‘é olos Jg‘fu wi ;[%1 d:’,g vi)
3- Write short answers to any Ux2=8) A eyr L ey d g -3

4 questions:

(i) What does the word Candid refer to? S by JIp gfj}« ;;,[J,,J @

(ii) Write an algorithm to find acceleration of a moving =L U . L’/f’w ﬁ){, {(3 i S =S uf( G
object with given mass and the applied force. n L'fd: (Force) =4 dis & Je1 s (Mass)

(iii) Differentiate between temporary and permanent u/f 71 G u:-/’, 45 &t ‘}:" s u%u (iiD)
storage.

(iv) State the method to convert decimal number system ¢ 5 b ¢ o S fu 4~ (B Sk dl? ffuzj S S50 (V)
into binary number system. é//}

(v) Convert (69610)1o to Hexadecimal number system. ,“é J Jf”ij ;)fj /(69610)10 W)
(vi)  On what truth value of the compound proposition Sl 4 e O NS ks £l $Hog Sl (vi)
depends upon? ‘ ’ T
4- Write short answers to any 4 4x2=8) & oyz P Loy bl (/4

questions:

(i) State the features of a well-defined problem. & Uk Uks $ L L e ¢ 5,, L @D

(ii) Write an algorithm to find even numbers in integers ~_3) J/r,l:» e gen L2 A S < nl £ G
ranging from n1 to n2 (where n2 is greater than n1). ety = / al / n2
(iii) Define machine language. e d’é,@ J:" (id)
(iv)  Convert 15640 into binary number system. S de s U 3¢ /15619 (v)
(v) Define OR Operator with its symbol. _é eolos JL‘» d/]:z.}’ OR )
(vi) Draw the truth table for AND operator. _2 Jd Py 4~J_ L o AND (vi)
- ~)

(Part-II

Note : Attempt any TWO questions. M aniz & ety e 3 s

(8x2=16)

5- Perform the following conversions (ABCD)1¢ to binary I A [(ABCD)16 -5

6- Draw the flowcharts for find LCM (Lease Common ¢ (LCME -5 - Cudnut S Sek 6
Multiple) of two numbers. ;j/

7-




Draw the flowcharts for input a number and calculate ¢ s/ s JJ en o e Jlo / Lot gt L/ﬂ;, Oy b7
its factorial. -/ & (Factorial)/} €



MCQs Ans Key

Q:1 (C) Q:2 (A)
Q:7 (A) Q:8 (D)

Q:5 (B)

Q:6 (D)



Test# 7 COMPUTER Unit # 3,4,5 (2nd Half)

Time: 1:45 Hour Class-9*" Dated: / /

Student Name Roll No - - Marks: 50
1. Circle the correct answer. LYoo S Lz e -1
(10x1=10)

1 Which one of the following layer sends a messageto  _(f+ 1 o Lt /r% Hsow et it 1
the server connected with sender: : :.“. vy

Data Link Layer/q @ s (C) Physical Layer//g ‘ﬁ/ (B) Network Layer//.g s o (A)
Application Layer//g ey (D)

2 WWW is an abbreviation of: e WWW 2
World Wide Web _, 11y 4,5 (B) World Working Web _, _,éﬁ, H (A)
Wide Web World ,, _.s 1, (D) Wide Word Web _, 5,, 1z, (C)

3 The foundation of all security systems is formed on: e (’L; £ u(/'/ g/,:? 3
moral laws uj,} JM (C) security laws uf,} é/,:? (B) social laws uj,} G (A)
ethical principles .#j 3w (D)

4 Illegal copying, distribution or usage of software is sttt T sl (;"ﬁ PRI Ao 4
termed as: ‘

draft piracy (&7, {»ss+ (C) software piracy U{,’g 7y 23 (B) illegal piracy (/7 36 FaL)
data piracy 57/, 5 (D)
5 The process of encoding data in such a way that only é of el § Il S fu/d/g,ﬁ 0L le;" 5
authorized person can read it, it is called: i g
e Ul et
decryption .7 /" ¢35 (C) description Lf:./% (B) encryption .= S s (A)
authorization .27 # (D)
6 To access a webpage, we sent a request to the web e 25 L L L J_/J‘l, Jp/ KE e 6
server through a/an: X P ;J//;/
website .1 _, (D) web browser i, _., (C) webpageg _., (B) HTMLHTML (A)

7 HTML is used to create: e Qb S U1 £ S LHTML 7
web pages & _., (D) datatext fis (C) graphicfile fi _gi/ (B) textfile fy . € (A)
8 By clicking on we can move from one webpage et Ve L LBy /u’@ A, 8
to another: T ) ’

HTTP HTTP (D) WWW \WWW (C) network _,, .- (B) computer ;. (A)
9 A simple computer language that is used to create e S Lot m s S 2 L 09

web-pages is called. > &M
Photoshop _2 5 (D) Excel J4 (C) Word s, (B) HTMLHTML (A)
10 The tagswhich do not have closing tags are known gl L R LKL R 10
as:

double tags -& f5 (C) singular tags‘/?"),ﬁ (B) paired tags -& 1 (A)
multiple tags -& &+ (D)




Test# 7 COMPUTER Unit # 3,4,5 (2nd Half)
Time: 1:45 Hour Class-9*" Dated: / /
Student Name Roll No - - Marks: 50
- J:l )
(Part-I
2- Write short answers to any (4x2=8) ey etz & L ey 4 e 352

4 questions:

(i) Describe the working of web browser. fe ¢/ ¥ d“/ Bkl @

(i) What is meant by File Transfer Protocol? fe sy e Jos Yag A S G

(i)  What is meant by frequency analysis? Why is it used? et Y Ji U - ‘e e oF Gk (il

(iv) What is the relationship between password and fe J*’Y U /f 6 EYDIEY, Ji o Gv)
cryptographic keys?

(v) What is meant by a good password? S Ve bnuL & (V)
(vi)  What is the role of Head section in HTML document? fe S A el HTML Kuﬁg YY)
3- Write short answers to any Ux2=8) A eyz L ety d g §S-3

4 questions:
(i) How telephone addressing relate with network It S = L S e A S Lon § s &
addressing? S
(ii) State the use of computers in our daily life. ,é e = U3 L /",:,fuﬁ J,CJ v rss S (1)
(iii) What is application sharing? Give an example. - Jé L S Lf.f/’-:’ S (ii1)
(iv)  Who was Caesar? Wl e Gv)
(v) Write any two Characteristics of a Phishing Website. «né Uk Uks J u’f'/L/ — oW
(vi)  Define HTML. & Uk YHTML (v
4- Write short answers to any 4 Ux2=8) ez P Ly dige 4
questions:
(i) State the purpose of computer network. e Tt enud & o & Ied @)
(i) What is meant by storage capacity? ‘ Ce iy Ve ol JJ_/J;F (i)
(i) Who is a sender? S of sk 0 2 p, (i)
(iv)  What are the types of software piracy? 0] ‘j”’( g &/’; A3 (Gv)
(v)  Define hard-disk loading. fe s Ve B3 C55 (V)
(vi) What is meant by an anchor? S ly Ve L (Vi)
- ~)
(Part-II
Note : Attempt any TWO questions. A eyz Lty Qe e
(8x2=16)
5- Write the output of the following <html><head> il J 5 HTML S5 s -5

HTML

<title> MY WEBPAGE </title> -~

</head>

<body>

<ol> <li> Sports

<dI>

<dt>Cricket</dt>




<dd>Each team has
11 players</dd>

<dt>Badminton</dt>

<dd>Each team has 1
or 2 players</dd>

<dt>Chess</dt>

<dd>Each team has
exactly 1 player</dd>

<dl> </li>
<li> Cities of Pakistan

<dI>
<dt>Lahore</dt>

<dd>Capital of
Punjab</dd>

<dt>Karachi</dt>

<dd>Capital of
Sindh</dd>

<dt>Peshawar</dt>

<dd>Capital of Khyber
KPK</dd>

<dt>Quetta</dt>

<dd>Capital of
Balochistan</dd>

</dI></li></ol>

</body></html>

What is TCP/IP? Describe its five layers with their U:D Zmifuiydurite s, = TCP/IP
functions. ’ L S
Write HTML to get the following output: G _ufj HTML & L 2 bbs wp &7 S5 oune

i) Algorithms ii) Plain Interest Calculation oS C;l'/ e (B’/ }ﬁ’



MCQs Ans Key

Q:1 (C) Q:2 (B)
Q:7 (D) Q:8 (C)

Q:5 (A)

Q:6 (C)



Test# 8 COMPUTER Unit # Full Book (FLP)
Time: 2 Hour Class—9t" Dated: / /
Student Name Roll No - - Marks: 50
1. Circle the correct answer. LYoo S Lz e -1
(10x1=10)
1 Yellow traffic light represents a/an: e st s 1
accident z,, (D) solution f (C) analysis :f: (B) problem . (A)
2 Flowchart can be used to: e b = oy )
plan a solution J ~ C;,, S ES A '
understand the way a problem is solved J_ = = SIS LSS e J( (B)
ABC all i ;;“;,’ (D) verify whether a solution is correct or not f"? (©)
3 Keyboard characters has an associated code in: e by 5/_,”(; K iy 7 rg SR 45 J 3
binary _# s, (D) octal s Jff (C) hexadecimal Jf{; ,)f; (B) decimal _# 51251 (A)
4 A group of eight bits: eto S e A L A8 4
byte .4, (D) binary 7, (C) base & (B) basic ¥ (A)
5 This law states that in Boolean Algebra, “the order of Sgodd e sl oo U ;},, d&,g ~(“._ e 27 i - 5
two separate propositions is not important.” It is: : 3}7 J:/ f" Y ur u"i/ ¥
Commutative Law j,.» Ji (C) Associative Law o g9E (B) Identity Law .1j5 s di/ ¢ (A)
Distributive Law u‘;} wse (D)
6 A device that initiates the communication process or &/JL//! éj& A 8/)(27{ u/,{' Jg,f a J{’zj g 6
sends the message is called: :LM‘L
hawker /'/Q (D) receiver .-, (C) sender ;. (B) worker Sy (A) ‘
7 A good password should be at least __ gl U (7Y ’f;; (/;/, Ul uj 7
characters long:
16 (D) 12 (C) 8 (B) 4 (A)
8 The fraudulent attempt by sending email to obtain J’L/Jﬁ, e S S el e /@ff Ju 8
sensitive information is called: e L"M J; S
censoring _ - (D) phishing _@ (C) tracking £ (B) hacking _gg; (A)
9 WWW is an abbreviation of: e GEWWW 9
World Wide Web _, 471, 2,, (B) Working World Web _, ;)/,L o (A)
Wide Web World 4,, _., 11, (D) Word Wild Web e 1y Do ©)
10 Which one is the correct option to give space in text o s HTe ol L £ s Aol s £ =2 10

;alt& (D) ;nbsp& (C) src (B) href (A)



Test# 8 COMPUTER Unit # Full Book (FLP)
Time: 2 Hour Class-9*" Dated: / /
Student Name Roll No - - Marks: 50
- J:l )
(Part-I
2- Write short answers to any (4x2=8) ey etz & L ey 4 e 352

4 questions:
() Define flowchart.
(i) Define routing.
(iii) Why is it important to keep trade secret in the
computer science field?

(iv)

(v) Differentiate between ordered and unordered list.

What is Vigenere cipher table?

(vi)
3- Write short answers to any
4 questions:

Which tag is used to create a paragraph in HTML?

(i) Define Computer memory.

(ii) How storage capacity can be increased over a
computer network?
(iii) What is the use of communication system?

(iv)  What is CCTV?

(v) What are substitution cipher methods?

(vi)
4- Write short answers to any 4

Name the types of tags in an HTML document.

questions:
(i) What is terminal?
(ii) Name the notations of the algorithm.

(iii)
(iv)

Define machine language.

Does the open source software have copyright
reservation? Explain.

(v) What is software piracy?
(vi)

Write any two Characteristics of a Phishing Website.

Note : Attempt any TWO questions.

5- Draw the flowcharts for input two numbers
nl and n2. Determine whether n1 divides
n2 or not.

6- Perform the following conversions

(0010110010001101001); to hexadecimal

Foa Skt O

kS B GD

S U 65 0ity S Sk Ut 22 £ UL Jed (Gl
fe

fe gJ‘:/:/V/:CF} Gv)

~ U (unordered) 57 & s (ordered) s oF (V)
U e O/

tetw Jot B Lol L £k iz fHTML (Vi)

(4x2=8) 2 etz 22 L ey 4 s 353

“E S S8 e ®
?%D:l?kfiu'&fui':,ﬂud/';/sﬁ (ii)

o i K o S

‘e o ¥ CCTV

fe UK O JE (V)

o Ltags L Lw S g e BHTML - (Vi)
(4x2=8) iz BZ L iy 4 fo e 35 -4

(iii)
Gv)

e V2D

ol S0 A1 L e L L L H P G
& o SER

U Lw =67 £ wA 36 g s D3 U gl
«é =olos

fo A s L
*éUkUk};JJa/VEwﬂ

(iii)
Gv)

)
(vi)
- (9 )
(Part-1I
af edlz £ ety (2) 5 < RIS
(8x2=16)
ot -dg n2 mnl/ b e U ufl‘/. e & 5
?ufgﬁ;v/(:y‘)‘(fnz/nl JSJ

Ja Ut FH UL 40010110010001101001), -6
/S
-7




What are the sizes of IPv4 and IPv6? § oL b € b uds ol A ZIPV6.sIPVA
Explain the method to calculate the size of S Kt
these both standards.



MCQs Ans Key

Q:1 (B) Q:2 (D)
Q:7 (B) Q:8 (C)

Q:5 (C)

Q:6 (B)



